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Find the simple interest on Rs.8600 from 18th October, 2006 to 13th march, 2007 at 8% per annum. Also
find the amount.

P = Rs. 8600

R=8%

T =18 Oct.to 13 March

=(13+30+31+31+28+13)days

=(134+30+31+31+4+28+13)day

146
=146d = ——Vyears
W= 3557

_ PxRxT
100

Sl

8600 x 8x -39
365

=Rs.
100

= Rs.275.20
Amount = P + S.I. = Rs. 8600 + 275.2
= Rs.8875.2
Ashish lent Rs.10500 to Mark at 7% per annum simple interest. After 5 years, Mark discharged the debt by
giving a watch and Rs.3000 in cash. What is the value of the watch?
P =Rs.10500,R=7%,T =5 year
PxRxT
B
10500x 7 x5
~ 100
= Rs.3675
Amount =P + S.
= Rs. 10500 + 3675
= Rs. 14175
The value of watch = Amount - Rs. 13000
= Rs.14175- 13000
=Rs. 1175

Sl
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1
In what time will the simple interest on Rs.7560 be Rs.1102 at 65% per annum?

1 25
P=Rs.7560,51.=11025 R=6=-%=—%

2 4
We are requires to compute time in years.

B PxRxT
100

Sl

OR

S1x100
PxR

~ 1102.5x100

7560 x 22
4

T=

= 2.3 years.
= 2 years 4 month

1
In how much time will Rs.25600 amount to Rs.35665, when money is worth 92% per annum simple

interest?

Amount = Rs. 35664, P = Rs. 25600
S.1. Amount — P

= Rs. (35664 — 25600)

= Rs. 10064

R=9£%=3—7%
4 4

_ PxRxT
100

T SIx100
PxR
10064 %100

25600 >/
4

Sl

=4.25 years
or 4 years3 months

1
At what rate per cent per annum will Rs.1625 amount to Rs.2080 in 35 years?

p =Rs. 1625 Amount =Rs.2080, T = B%years = gyears
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We have to computer rate of intetrest R

g1= PxRxT

Sl=Amount-P
=Rs. (2080 - 1625)
=Rs. 455

Substituting rhe value of SI.P & T in Equal(1) we get

R_ 455><1070 _ 8%
1625x —
2

8
A sum of money becomes — of itself in 5 years at certain rate of simple interest. Find the rate of interest.

Let P = Rs. x, Amount = Rs.gx

TimeT =5 years

We have to compute rate of interest R.

S.I.=Rs. (gx - Xj
5

o PxRxT
y 100

R=S.I.><100
PxT

§X><1OO
5

Xx5

= 300 =12%p.a
25

The simple interest on a certain sum for 3 years at 8% per annum is Rs.96 more than the simple interest on

the same sum for 2 years at 9% per annum. Find the sum.

SL(i) for a sumP,for; T = 3years, R =8%p.a
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S.1.(2) forasumP, for,T =2years, R =9% p. a.
SI.(2) = Px9x2
SI1.(1)=S1(2)+96
Px24 px18 "

100 100
OR

0 F’><24_p><18}296
100 100

OR

96

p 96

OR
96 %100
p=—r—

X — =
100

=Rs.1600

The sum Rs. 1600

Find the amount and the compound interest on Rs. 5000 for 2 years at 8% per annum, compounded
annually.

Principal for the first year = Rs. 5000

Interest for the first year = RS.(%) x 5000 = 400

Principal for the second year =Rs.5400

Amount at the end of second year = RS. £1+ %j x 5000 = Rs.5832

Interest for the second year = % = 432 Rs.

Compound interest = 400+432=832 Rs.
Find the amount and the compound interest on Rs. 8000 for 2 years at 6% per annum, compounded
annually.

Principal for the first year = Rs.8000
6
Interest for the first year = —— x 8000 = 480 Rs.
100
Principal for second year = 80004+480=8480 Rs.
6
Interest for second year = 00 x 8480 =508.80 Rs.

Principal at the end of second year
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= 8480 + 508.80 = 8988.80 Rs.
Total compound interest = 480+508.80=988.80 Rs.

Find the amount and the compound interest on Rs. 2500 for 2 years, compounded annually, the rate of
interest being 6% during the first year and 8% during second year.

Principal for the first year = Rs.2500

Interest earned by end of first year = % x 2500 =150 Rs
Principal for the second year = 2500+150=2650 Rs.
Interest earned for second year = % x 2650 = 212 Rs

Total interest = 150+212=362 Rs.

Amount at the end of the second year

=2650+212=2862 Rs.

Find the amount and the compound interest on Rs. 2500 for 3 years at 6% per annum, compounded
annually.

Principal for the first year = Rs.25000
6
Interest for first year = — x 25000 =1500 Rs.
100
Principal for 2ndyear = Rs.25000+1500=26500 Rs.
6
Interest for 2nd year = — x 26500 = 1590 Rs
100
Principal for 3rd year = 26500+1590=28090 Rs.

Interest for 3rd year = % x 28090 =1685.40 Rs.

Amount at the end of the 3rd year

=28090+1685.4 =29775.4 Rs.

Find the amount and the compound interest on Rs. 10000 for 3 years at 10 % per annum, compounded
annually.

Principal for the 1styear = Rs.10000
10
Interest for 1styear = 100 x10000 =1000 Rs

Principal for 2n year = 10000+100=11000 Rs.

Interest for 2nd year = 110—00 x11000=1100Rs

Principal for 3rd year = 11000+1100=12100 Rs.
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Interest for 3rd year = % x121000 =1210 Rs.

Amount at the end of the 3rdyear

=12100 +1210=13310 Rs.

Total compounded interest = 1000+11004+1210=3210 Rs.

‘A’ took a loan of Rs. 25000 from corporate bank at 12% per annum, compounded annually. How much
amount he will have to pay at the end of 3 years?

Principal for the 1styear RS.25000

Interest for the 1st year = % x 25000 = 3000 Rs
Principal for 2n year = Rs.28000

Interest on 2nd the year = % x 28000 = 3360 Rs.
Principal for the 3rd year = 31600 Rs.

Interest for the 3rd year = % x 31360 = 3763.2Rs.

Amount at the end of 3rd year = 35123.20 Rs.

Total compounded interest = Rs.10152

‘A’ deposited Rs. 15625 in a bank at 8% per annum, compounded annually. How much amount will he get
after 3 years?

Principal for 1st year = Rs.15625

Interest for 1styear = % x15625 =1250 Rs.

Principal for 2rdyear = Rs.16875
Interest for 2nd year = 8 x16875=1350 Rs.
100
Principal for the 3rd year = Rs.18225
8
Interest for the 3rd year = 100 x 18225 =1458 Rs.

Amount at the end of the 3rd year = Rs.19683

A person lent out Rs. 16000 on simple interest and the same sum on compound interest for 2 years at
12.5% per annum. Find the ratio of the amounts received by him as interest after 2 years.

Simple Interest

Principal for the 1st year = Rs.16000

Interest for the 1st year = ]jf)(? x16000 = 2000 Rs.
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Interest for 2nd year
Total interest = Rs.4000
Compound Interest

Principal for 1st year = Rs.16000

Interest at the end of the 1st year= ]f)os x16000 = 2000 Rs.

Principal for 2nd year
12.5
Interest at the end of the 2nd year = 100 x18000 = 2250 Rs.

Total compound interest = 2000 + 2250 = 4250 Rs.
Ratio of the interest = 4000 : 4250 or 16:17
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